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OBJECTTVE
Q#1: Choose one of the multiple options that is corrrct.

(MS-ACCESS )
i. Which of the following model is more flexible:

a) Nctwork data model b) Hierarchical data model
(]) Ilelational dala model d) Object data model

ii. A table must have
a) l)rimary key b) Secondary key
c) Compositc key d) Son key

iii. ln lrltD model, the relationship betvr'een two cntities is represented by a(n):
a) l)iamond symbol b) Rectangular box
.) Oval s].rnbol d) Line

iv. In 3NIr, a non-key attribute must not depend on a(n):
a) non-key attribute b) key attribute
c) composite key d) son key

v. which oflhe following object of database is used to r€t eve data fiom database?
n) Queries b) Forms
() Ileports d) Tables

vi, 1o iind iour character name stans with H, the criteria is specifiedas: -

a) H*4 b) H?4
c) H???? d) H*+*H#

(C.LANGUAGE)

vii. .cxc file ls produccd by:
) (lompiler b) Interpreter

c) l-inker d) Loader

viii. a += b is equivalent to:
a)b+=a b)a=+b
c)a=a+b d)b=b+b

ix. The valid equivalent C statement of area = nf :

a)rxf b)n"f
c)fl*r^2 d)n*r+r

x. Which of the following in NOT a contol suucture?

u) Sequence b) Selection
c) Rcpetition d) Database



)

xi. ln which loop, semicolon(;) mLrsr be placed at end of i!s syntax?
i) for loop b) \rhile loop
c) (lo-while loop d) for each

xii. Nlonory is allocnted to a local variable at the time of its:

") dci l,rr,rion b) dcslucU,r0
r) delinitjon d) firsr relerence

xiii. \ryhlch of l}le fol]owiog ls true aboul a fu]n(rion call?
n) Stops lhc cxccution of the program
h) lrrn<fcr conlrol rurhe,d]lp(l ll ll tion
.) liansftr.ontrol !o the majn funcLior
(l) Itesumcs lhc exccurion of thc prograrn

xiv. On succcssfully closiog d lile, llrr, f(loseo rcturns:
a) NU[,L b) 0 (zero)
() 1 (one) d) I:ll-E poinrer

xv. Which of thr lollowing mode opcn only an existing file for both rcading and writing?
a) r\, b) ,\1+"
(i'fr" d) Jr'

(VISUAL BASIC)

vii. ldcntify invalid variable lrame?
a)_num b) Int
c) 01_num d) num_01

viii. a <> b is equivalent to:
a)a>b b)a<b
c) NOT(a=b) d)a<bANDa>b

ix. fhc valid equivalent VB statement of area = nr::
a)rxr b)3.14*a
c)n*r^2 d)3.14*r*r

x. All of the followirgs dre r{amples of controls EXCEPT:
J) Label b)Button
c) l'cxtllox d) (iaption

xi. ln which loop hody nrn nt least once?
a) I oR .. NI':X I b) \\,'llll-E .. WFIND
c) l)O.. l-ool'.. wHll.ll d) DO.. UN lll... LOOP

xii. which of thc following [unclion is used !o convert numeric va]uc into sEing:
.r) Virl b) IntToSIr
c) Srr d) Srring

xiii. which ol the follo\^'ing is true aboul a fun.iion call?
r) Stops thc crecution of rhe program
br lra.r'llr ,,,rrrrol lo rhc.,lllcd fulLliu'l
() lrdn\.cr r (,Itrol ln lhc mJ.n lurk liur
d) llesunres rhe e\ccuron of lhe program
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xiv. Which cvent is not rclated to Label control?
a) Click b) Load
c) Dblclick d) Change

xv. The Stretch property is related to control:
d) Picture b) Imagc
c) Form d) Burbn

SUBJECTIVE
S€(tion-I

MS.ACCESS
2. Write short answers to ally SIX (6) questions:
i. llilferentiate between data and information.
ii, Define Primary K€y.
iii. What is Cardinality?
iv. Describe functional dependency.
v. ldentify candidate keys and select primary key for relation:
vi. Wha( is redundaocy?
vii. Wrile dn) two data typcs in MS Accesq.
viii- Dpf ine wildcards.
ix. whal is the difference bctwccn list box and combo box.

(C-I,ANGUAGE)
3. writc short answers to any SIX (6) questioDs:

i. whar is an objecr codcl
ii. \ame lwLr pre-pro(]cssor directives.
iii. Iiow docs a vdriablc (lo.lnrc? Cjve an cxample
iv. whar is an arirhr ,ti. Indpr{Low?
v. llillerenti:rte betNecn unary and binarv operators.
vi, Re-write rhe foLlowing codc by using conditional operator:

if(x>5)
y=3;

vii. Find any nlo errots:
int x;
scanf("7od", x);
if (x6ld2=0)

print("Pakistan"),

viii. Trace the outputi
inr num=10;
num i= 3l

Pnnd["o/ud'" num);

ix. FiDd the ourput of thc following code segment:
inrx=3,y,2;
Y=x=10;
z=x<10;
prinrf ( "x = yod y ='t/od z - yod", x, y, z) :

(12)

EMPLOYEE( ID, NAME, CMC )

(12)



OR
(VISUAL BASIC)
ll. Write short answers to any SIX (6) questioos:
i. what is object codc?
ii. l)cfine alBorirhm
iii. llow a variable is declared in VB ? Give an example
iv. What is rrithnrPtic underflow?
v. Differentiate between unarJ and binary operators
vi, What is inlegrated development environmenr?
vii. Find any two errol5

Public Sub Mcssage_Click( )
prinlf "WelcorDe to lslamabad"

li od Subroutine
viii. l)efinc proporties uindow in VB.
ix. Write down lhc general syrltax of lnpuBox0 function.

(C I,ANGUAGf])
4. W.ite short an$wers to any SIX (6) questions:
i. l)otinc lrorma! speLilier.
ii. I ist th0 n.rmcs oI t\!o lur( rions used lor charicter inpul.
iii. Whdt js LogicalAND ope,nror?
iv. Fir)d any t\\o errors:

inl r = 2.i;
!witch(x){

casc x < 5:
casc 2.5:

i

v. Predict lhe output:
for (i=l ; i<= 20 ; i+--2)

prirnl("%d", i);

vi. Give an €xanple such d)al where you prefer to use do-while Ioop not while loop?
vii. Re-write the follor!ing code by using dGwhile loop

f0( i= l0 ; i>=0 ; i-=2)
prinl t("Pakistan Zindabad");

viii. Writo do\,1n .] function hcader statentent, that accepts otre inrcger and other decimal point value
ix. lloF to (leclnrc.r poinrer variablo?

OR
(vrsuAL BAsIC)
4. Write short arrswers ro any SIX (6) questions:
i. \Yhat are conlrol statemenls?
ii. Drnw lhc tlow.han of if theo srdtements
iii. llo',v a r|lect case hclp you h cuding?
iv, Predict tlte output:

Frn X=0 to 20 Srep.l
print x



v. wrile is the output of the following code segment:
Dim Marks As Integer = 30
If Mark > ,!0 Then

MsgBox "Pass"
Else

MsgBox "Fail"
End If

vi. Find nny tlro crrors:
DimNnslnteger=1
WhileN<=5Do

Prjnl "Hellc) Friend"
N++

vii. Re-wrtc thc follo1,ing code by using do-until-loop
l)inr N As lnleger
ForN-1Tol0Srep2

PriIrt "Pakisrdn Zindabad"
\e\r

viii. whirl is infiDirc loop?
ix. l)lllcrontiate hetween DO-.LOOP.WHILE and DU..UNTIL loop ?

S€clion-ll
(MS-ACCESS)
Notei Attenrpt ary ONE (l) question.
l. !)clio(,liR l)iagran1. Explain ER-Diagran with lhe help ot an exanrple. (B)

B. Discuss diflorqlt t\rpes o[ queries in database (B)

Se.tion-tIl
(C-I,ANGUAGE)
Nore: A[eDrpr anyTWO (2) quEtions.
7. Writ€ d C-Ldnguage pmgram that input ages of three persons and display who is youngest? (8)
8. write d C-Ldnguage program \,vhich prinls the following pattem by using loop: (8)

I

579
7911 13

9. llor it J tur(tion .all Dladc in a C Program ? Discuss wirh an cx.mpl. (8)

OR
(v tsuAL RAstC)
Nol(': Artcrrpr irny l WO (2) questions.
7.U/rire,r Vis il fJnsic program thar inpur rges ol three persols an(ldisplaywho is youngest? (B)

B.writr,r Vs ,rl Bnsicprogrnmwhichprintsthelollowiogp.ttternbyusinglooP: (B)

I
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9. llo$,s.rl(Lf(o,)n.all frn(leinatl I'}fogr.m I l)rsru5!\rth<rn o\antple {lll


